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Chapter 8 Test Review

(Lessons 8-1 through 8-6)

Estimate the area of each shaded region. Each

square represents 50 in.2,
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Choose a reasonable estimate.

Height of a cup:
Length of a marker:

Depth of a pool:

6 ft or(sin)

@ or 15m
@ or 2cm

Distance from Raleigh to Durham: or 20vyd

Length of a classroom: @ or 5km

Complete the chart below.

Shape

Formula for Area

Rectangle

| xw

Parallelogram

b-\n

Triangle

Ay,
Lo

Trapezoid

%(‘b\*bzX'\f\
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Find the area of the figure.

A= bl
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Find the area of the figure.
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Find the area of the figure.
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Complete the chart below.

Shape Formula for Area

A

Circumference of a Circle

Area of a Circle

T2

T=3.\4&

Find the circumference and area of the circle.

Circumference: 'T\—d

T -[ez E o)

20em

Area: —‘TV 2
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Find the circumference and area of the circle.

Circumference: T\—-CL\
T (25)
- [15.5 o]

Area: —“-r?_
T(2.e%)

T( \s0. 22)

- F’ﬁg. LS mw\ﬂ

Find each square or square root.

1 22z Y 2. 102z \OO 3. 72= U9 a. 13 = \LA
5.9 = 3} 6.vi21 = W
7.V64 = B 8425 = O
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Label the legs and the hypotenuse of the right triangle.

\cg —>

What is the formula for the Pythagorean Theorem?

Q.’L -\—b?' = C_.z
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Find the missing length.

Qi'\’bq—: CZ
10 cm _ (;‘-*\07':67'
X G¢cm
N 3(0*_\60:(:2
\26 = &
20 =™
Wl =<
W;l-_‘g_ﬁew

Find the missing length.

45 m

J
Slm

b
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H46* + b* = S\

2,025 *o*= 2,0\
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Ladders A ladder 26 ft long is placed 10 ft

from the base of a house. How high up the

side of the house does the ladder reach?

0\2,‘_ o= c?
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Support Cables A support cable connccts the
top of a 30-m pole to an anchor 20 m from the
basc of the pole. How long is the support
cable, to the nearest tenth of a meter?
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